& % Ul Gt 2 BEA A5E 2 g ALY

D 3x2+7x+2 @ x2+3x+2 ® 2x2+7x+6
@x2—5x+6 ® 2x24+3x-2

B

D3x2+7x+2=Bx+1)(x+2)
@x+3x+2=(x+1)(x+2)
® 2x% + Tx+6 = (2x + 3)(x + 2)
@ x?—5x+6=(x-2)(x-3)
®2x?+3x-2=(x+2)(2x-1)




2.

12ax? — 12axy + 3ay? = AEoloH?

@ 12(ax — ay)? @ 6a(x—y)?

@ 3a(x-y)? ©3a(2x -y)?

® (6ax — ay)?

12ax? — 12axy + 3ay* = 3a(4x? — 4xy + y?)
= 3a(2x - y)?




3. AX¥*+36x+B=(2x+C)? oA ¥4 A, B, C 9] &= FoFH?

@ 4 @9 ® 81 @ 90 (@)94

Ax24-36x+B = 4x2+2x2Cx+-C2 0]|E2 A =4, B=81,C =19
ot}
Wl A+ B+ C=4+81+9=94 0|t}




4.

Vi=a-249 M, Vx—4a+12- Vx+2a-3 & 7

2<a<4)
@-2a+5 @ 2a-5 ® 5
@ —2a-3 ® -2a+3

4

ol

FA? (

‘q——’

B

Vi=a-2 o FHS AESH x =0’ -4a+4
Va2 —8a+ 16 — Va2 —2a+ 1

= /(@a-4)2- /(a-1)?

=la—4|-la-1|

=-a+4-a+1=-2a+5




x?—4x—A = (x+5)(x—B) = 2ol ©rh. A-B ] g5 F5hd?

@® -36 @ -54 (@)36

@ 54

® 64

B

x?—4x-A = (x+5)(x—B)
= x> - Bx+5x-5B
=x2+(5-B)x-5B
5—-B=-4,5B=A




20x% —ax -9 = (4x-3)(5x—b) A W, a + b 9] & Fo}A?

®-3 @3 ®-1  @o ® 1

B

(4x = 3)(5x — b) = 20x% — (4b + 15)x + 3b
=20x% —ax—-9

3b=-9,b=-3

—(4b+15)=-3=-a

a=3

“a+b=3-3=0




7. (aV3-2)(V3+1)=bV3+T7 L W, a+b 9] F?

® 1 @ 2 @3 @ ® 5

B

(a\/§—2)(\/§+1) =3a-2+(a-2)V3
=bV3+7

3a-2=17 SLa=3

a-2=5>b Lob=1

La+b=3+1=14




8. 3% -1dxy+8? = (ax+by)(ex+dy)E W, Ul BFa,b,c,do
Fa+b+c+do WA2N(F a>0,c>0)

@2 o-1 00 @ 2 ® 4

3x2 — 14xy + 8y? = (3x — 2y)(x — 4y)
a=3,b=-2,c=1,d=-4
“a+b+c+d=-2




9.

5 oA x2 —3x -4 2 242 —11x + 12 ¢

® x-1 @)x-14

@ 2x-3 ® 2x+3

¥ =-3x-4=(x-4)(x+1)
232 —1lx+12 = (2x - 3) (x—4)




Da?-23a-24=(a+1
@ a® +10a-24 =

(a—24)
a-2)(a+12)
@ a?-5a-24=(a+3)(a-8)
®a®?+2a-24=(a—4)(a+6)

—




11.

Ar2sf 2 W, a7t

- 1

X —ax-3x+3a-30°] F 4zl Fo=g o

U= #e @27 (&, Folx oAl Ao HeloA 4R
Hrh)

@® 2 @ 4 3)6 @ 8

B

® 10

¥ -ax-3x+3a-3=(x+a)(x+pB) =2 ESH
¥ -(a+3)x+3a-3=x>+(a+B)x+aB
a+3=—-(e+p) M a=-a-B-3

3a—3:a,8°ﬂ/\‘]a:$

af + 3
3
af+3a+3+12=0

(@+3)(B+3)=-3

a+3=+14 W, g+3=530]22
(. B) = (-2,-6) (-4,0)
ca=-a-B-39N5a=1,5

L —a-f-3=

=]
=
(<]

s




12.

4x? —4x —a 7t F EAAO] o2 QIR HA, o] F 7t
2x+3 4w, a o F2?

O -15 @ -6 ® 3 @ 6 ®)15

B

4x% —4x—a = (2x+ 3) (bx + ¢)

= 2bx? 4+ (3b + 2¢)x + 3¢
2b=4, b=2
2c+3b=-4, c=-5
—a=3c=-15, a=15




13.

o]xFAl x2 + Ax + B & 14 £
A5 Hof (x+4) (x+3) ©] HA, BXlol=
(x+1) (x+7) o] =3t tha &

AL

@D@+2)(x+6) @ (x+1)(x+6) O (x-2)(x—6)
@ (x-1)(x-6) ® (x+3)(x+4)

FAolE 2 4 Tx + 12 oA A5 12 & HA H,
Aol x® +8x+ 7 A x o A 8 & WA BTt

wpapa] 0] 7] o] ZFAZ &% 4+ 8x + 12 = (x + 2)(x + 6)




14.

o @ O] A4 ax? + b + ¢ B Q14+ Eallsh=t] SulE
B EOIA 3 (x-1) (x—4) 7F HAT, @A ATTE H
EoJA 3 (x—1)(x+5) 7} =T} o] wf, Fo]F o]x}4]-Z Ht

Q1% Eole AL

©® 3(x-2)° @3(x+2)2
® 2(x-2)(x+2) @ 3(x-2)(x+2)
® 3(x—4)(x+5)

U= 3(x - 1)(x —4) oA A5 12 & 2A HYL,
AAol=3(x—1)(x+5) oA x & A4 12 & FA HYTh
whehA] 3x2 + 12x + 12 = 3(x + 2)2 o[t}




15.

O|ZHA ax? +bx+c¢ & A2l k=t Wae x & AlFE EX Hal
=°14]

2x+ 1) (x=5) 7F HAL, AYFole Ao4da &X Hi E01A
(2x 4 5)(x = 3) °] HAct.

tha 5 x> + Ax+ B & &7 = Esft 227

@(2x—5)(x+2) @ 2(x+1)°
® (x-2)(x+2) @ (x-2)(x+3)

® (2x-4)(x+5)

2(x+1) (x=5) oA AT -102 BA B},
= (2x+5)(x = 3) oA x o Al -1 ZA B
A 2x% = x—10 = (2x - 5)(x + 2) °|t}.




16. thg 1de] wE Az ol yol o] gt Hol7t 2 Azt el

j=

gt §e] dol=?

- =T~ < 1 1 1 1

~
~
~
~

~

T .'1;2 s T T T T €T X €T

® x+1 @x+2 ® x+3 @ x+4 ® x+5

(Wol) =x? +4x+4 = (x+2)2
webd o1 HAZIE 0] o W] Zol x 1 201t




17.

D)2nxy @ mxy

® 2nx?y

@ mxy? ® n(2x* +y)

~&B

AC=2x+y, AB=2x-y
mebd o 2] Wolt x

2nxy

2

2x+y)2 _n(2x—y

2

)

2




18. [a, b, o] = (a=b)(a=c)=t & W, [a, b, |- [b, a, ] T A3,
(xa+yb+zc)(pa+gb+re) oItk Ol W, x+y+z+p+q+r 9
A0

@ -1 @ 3 (@)0 @ 2 © -2

B

(a=b)la-c)—(b—a)(b-rc)
=(a=-b)(a=c)+ (a-b)(b-c)
=(a=-b){(a-c)+(b-c)}
=(a-b)(a+b-2c)
SLx+ytz+ptqgtr
=14+(-1)4+0+1+1+(-2)=0




19.

@ 2x% - 8x% — 10x = 2x(x? — 4x - 5)

= 2x(x-5)(__)

© (x+y)?+3(x+y) +2°04[ |8 A 2 A&7,

O x-1,x-y @ x-1,x+y ® x+1,x-y
@x+1,x+y ® x,x+y

@ 2x% - 8x% — 10x = 2x(x? —4x - 5)
=2x(x-5)(x+1)




20. (x-2y)(x-2y-3)-10< I4E5HH

@_10 @ 3 ® 10 @ 2

B

x-2y =1 2ok,
t(t=3)-10 =12 -3t - 10
= (t-5)(t+2)
=(x-2y-5)(x-2y+2)
om=-5n=2

C.mn = _10




21.

@® 2(a+b+2) @ 4(a-b-2) ® 4da(b+1)
@ 4a(b+2) @4b(a+2)

B

(a+b+2)?-(-a+b-2)2
={(a+b+2)+(-a+b-2)}
{ta+b+2)-(-a+b-2)}
= 2b(2a + 4)

= 4b(a + 2)




22. (a-b+3)?-(a+b+3)? & 7rHs] 5 AL9

@© —4b(a-3) @ —4a(b+3) ® -8b(a+3)
@ —da(b-3) @) -1 (a+3)

B

(a-b+3)>%-(a+b+3)°
={(a-b+3)+(a+b+3)}
{(a-b+3)—(a+b+3)}
= (-2b) (2a +6)

= —4b (a+ 3)




23. e x(x+1)(x+2)(x+3) + 1 = U5EofolH?

@ (x> +3x+6)2 @ (x2+3x-1)2 ® (x> -3x+3)2
@ (x® - 5x+3)? @(x2+3x+1)2

B

(x24+3x)(x® +3x+2)+ 1

x?+3x=A 2 otH

AA+2)+1 =A2+2A+1=(A+1)2
= (x% +3x+ 1)2




24. o F 87 e AL

O P-x+2x-2=x-1)x*>+2)

@ xy—x-y+1l=(x-1)(y-1)

® xy-2x+y-2=(x+1)(y-2)

@ 32(x+1)-4x+1)=(x+1)(x+2)(x-2)

@ab+1)-(b+1) = 1 -a)(1+b)

®ab+1)-b+1)=(a-1)(b+1)




25. 49x%2 -9+ ldxy+y? =92l

15235k EHY (ax+y+b)(ax +cy + 3)
7F = ek o, 444 a, b, ¢ ol ot a— b+ ¢ O] FZ FoFH?

@ 2 @ 4 ® 6 @11 ® 16

B

49x? + 14xy +y? -9 = (Tx +y)? - 32

=(Tx+y+3)(7Tx+y-3)
a=7,b=-3,c=1

La-b+c=11




26. oFA x! =322 +1°] (& +ax+b)(x* +cx+d) = A2 2 o,
a+b+c+d gZ& F5HH?

@ 2 @1 ® 0 @ -1 @—2

B \
¥ =X= 2gstd
¥ -3x2+1=X2-3X+1
=X’-2X+1-X
=(X-1)2-X
= (x2-1)% - x?
=(x2-1-x)(x*-1+x)
= -x-1)(x*+x-1)°|BE=
a=-1,b=-1,c=1,d=-1°]A4%
a=1,b=-1,¢c=-1,d=-1
SLa+b+c+d=-2




27. x*> +5xy+2x—-5y -3 = AFE3|51H?

@ (x+1)(x+5y+3) @ (x-1)(x—5y+3)
® (x-1)(x+5y-3) @(x—l)(x+5y~l—3)
® (x+1)(x=5y-3)

x? 4+ 5xy+2x—5y—3
= x% + (5y + 2)x — (5y + 3)
=(x+5y+3)(x-1)




28. o Ao 2

2 (3192 - 181?)
372 — 132

D 71 @ 86 ® 98 @115 ® 138

B

2(319% - 181%)  2(319 4 181) (319 — 181)
372-132  (37+13)(37-13)
2 x 500 x 138
= 115
50 x 24




29, 2-x+1=0¢< o, -3x* +2x2 - 5x o] 327

3 @2 o0 @o

X¥-—x+1=00]22
2 =x-1
=Gx-1)=x2-2x+1

-3x*4+2x2 -5x =3x4+2(x—1) - 5x
=3x+2x—-2-5x=-2




1 _
W =5x-1=0D W, ¥+ — © g ToHH?
X




31.

a+b=3,ab=1%L W, a%(a->b)+b*>b-a)d F2?

@® 13 @15 ® 17 @ 18 ® 20

B

(a-b)°=(a+b)?-4ab=32-4x1=5
 (FA) =a?(a-b)-b*(a-b)
= (a-b) (a* - b?)
=(a=b)*(a+D)
=5x3=15




32.

o= 2"y Zol gtz Fo] rm ¢l
AE 99 Folgm 9 E2E THE
gty o] RO HolE S &, S
9} r & AFESH A0 2 LERE 229

®S=(r-ar @ S =(a®+rn
® S =a(r+3a)n (@)S =a(a+2r)n
® S=(a+r)a-rr

~&B

S =(a+r)n-rn
=n{(a+7r)?-r?
=n(a+r+r)a+r-r)
=an(2r+a)




33. wwol stget A2t 242 3x - 1, x — 2y ¢ AW A 9 Bul7}
3x3 = Tx? — 6x%y + 2x + 14xy — 4y ©|t}. o|uff, o] ZKHA| 9] o] &

Fohe?
@x—2 @ x-1 ® x+1
@ x+2 ® 2x+1

B
o Batel WaAzo2 Helsta
Z4)

—2y (3x2 - Tx+ 2) L R e L Ok
= —2y(3x2—7x+2) —|—x(3x2—7x+2)
= (x-2y) (3x* - Tx+2)

= (x-2y)(Bx-1)(x-2)

oEhA Eol= x -2 o[t

~

—~




